
P-SD2
Product names listed herein are trademarks of AS America Inc.
© AS America Inc. 2014

PARTS
BATH/SHOWER DOORS

Rev. 9/14

DESCRIPTION PACKAGE QUANTITY*PART#No.

1

2

3

4

5

6

7

8

9

10

11

12

13

14

15

2 pieces

1x Center Guide (with 2 inserts pre-assembled) 1x Screw M4x12

1x Left Bottom Guide, 1x Right Bottom Guide, 2x Caps, 2x Screw M4x10

Left & Right, one for each

Left & Right, one for each

2 pieces

6x Wall Plugs, 12x Screw M4x35, 6x Screw Caps

6x Screw M4x10, 6x Screw Caps

2x Glass Brackets, 1x Cover, 1x Screw M4x16, 1x Grey Cap

1 piece

2 pieces

1 piece

1 piece

1 piece

1 piece

710291-101.YYY0A

710292-101.YYY0A

710293-101.YYY0A

710294-101.YYY0A

710295-101.YYY0A

710296-101.0070A

710297-101.YYY0A

710308-101.YYY0A

710309-101.YYY0A

710310-101.YYY0A

710311-101.0070A

710312-101.YYY0A

710313-101.YYY0A

710314-101.YYY0A

710315-101.YYY0A

Handle Sets

Center Guide 1

Bottom Guides

Wall Post Cap (L&R)

Door Post Top Cap (L&R)

Top Rollers

Screw Bag 1

Screw Bag 3

Glass Bracket Kit

Center Guide Spacer

Door Post Gasket 71-7/8" (1825mm) [NOT SHOWN]

Door Post Extrusion 72" (1829mm)

Wall Post Extrusion 72" (1829mm)

Top Horizontal Rail 42-13/16" (1088mm)

Bottom Horizontal Rail 42-13/16" (1088mm)

*NOTE: Part# “YYY” specify: 213 Silver
295 Satin

1

4

3

67

14

8

9

2

10

13

15

Sliding Panel

Fixed Panel

5

12

OVATION® 48" SHOWER DOOR
MODEL NUMBERS: 
AM00548.400 SERIES


